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B retomss

P 75O A (R R S

1.

235+ 19 +6.06 =7
A. 85 B. 9.21 C. 10.31 D. 10.85

1.24 — 376 + 4.86 = ?
A.2.34 B. 2.44 C.3.24 D. 7.38

9.5 — (6.01 —239) =7
A 1.1 B. 3.49 C. 3.62 D. 5.88

T 1R — 18 B R UL 8.91 — 5.65 + 3.04 494 R ?
A5 B.6 C.7 D. 8

25671 = @EF [5]1A[1]98tEmE S ) ?
A. 49.99 B. 9.99 C. 9.09 D. 49.29

A A A EEHREF AP —ER G RIEH A —E R K
— A NE o mEEEES Y ?

A. 4.95 B. 27.27 C.49.5 D. 81.72

REFTH—FE $1650 LEFT F—LE $8.90  vA LW &
ANERBE KB TT $280 2R ERL SV ?

A. $22.60 B. $23.60 C. $25.40 D. $28.20

— 8B E $5620 tk— LR R $2630° 2R KE T2
Rl Ry & — e AT % ) 2

A. $29.90 B. $82.50 C. $86.10 D. $ 138.70
FEHNBOTL HHAOBTL —ALAHEERZT  H X278
Lo BEMEMRLTS VA

A. 5277 B. 190.1 © C. 1345 D. 162.3 T
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11. Cherry has $1200 pocket money 1. ZEHE A AZFH$1200 - 4
1 L 1
each month. She spent 3 of her EE 1) E) TR AR » — ,ﬁﬁ
pocket money on buying clothes HEA - #£48 » Wittty r E/Jf
= = 42 /]
and l on books. Then, she saved Eﬁ SR e AR 2
4 JC ?
the remaining amount. How much
did she save in a year?
A. $7920 A. $7920
B. $7200 B. $7200
C. $6240 C. $6240
D. $6000 D. $6000
12. In the number 345.789, what digit 12. 1£345.789% 1\ & » T Hy
is at the tenths place? WF AT 2
A. 4 A. 4
B. 7 B. 7
C. 8 C. 8
D. 9 D. 9
13. Which of the following numbers 13. 3 — {8 o BB K ?

has the largest value?

11
25
B. 0.45
c. 2
7
41

100

11
25
B. 045

A4l
100




Mock Paper m

36. (a)

(b)

Taxi Fare
1 i 2
First 2 km $24
H2AH
Every 200 meters thereafter
4. 2 N :
A% /200K SN

(200-m rate 1s charged for distance less than 200 m)

(R JE200K TR LA200KAEFT5E)

Martin took a taxi to go to
school. The whole journey is
3 km.According to the above
table, how much should Martin
pay? (Give the answer only and
express the answer in terms

of N)
[2 marks]

Mr Lee took a taxi to get
home. The whole journey is
2.3 km. If Mr Lee paid $28 for
the journey, what was the fare
for the 200-m rate beyond the
first 2 km?

[4 marks]

36. (a) HEBIFRALM L[N > BEAE A
3 o RIEER S FEIH
sz o e (H/EEE
0 BRLNFER)

247)

(b) ZESATA LMK » B
B2 308 B o R 2 e A A
$28 éz/\ifﬁﬁﬁzoo
NG 6= 2 v

(477)

End of Test Paper
W55 & 58
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B ngnrstes

A w0~
om o > O

91 — 5.65 + 3.04 = 6.3

u
>

50 — 0.01 = 49.99

6.D
RAN—L1)\E: 85.3
R/N\OIMNL)\E - 3.58

7. A
8.C
B



&L BERE raa

R E Al
n. D
1200 % (1 - % - %) x12=$6000
12. B
13. C
% = 0.44, ; = 0.57, % = 0.4
RiE|HEB2
Item | Suggested Solutions Marks | Remarks
B | ZAER o | ZFBBR
36(a) | $(24 + 5N) 2
36(b) | The 200-m rate beyond the first 2 km. 1
B2RBEE 200 KHNE -
28-24
5 =2 1

.. The 200-m rate beyond the first 2 km is $2..
B2RBHRE 200 KONER $2 - 1
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